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[ #include #define MAX 200int af MAX], b[MAX], cnt=0. int
isprime(int m){int i.for(i=2.1if(m%i==0) return 0.return 1.} void
jsVal({int 1,j,qw,bw,sw,gw.int ab,cd.for(i=0.i{qw=a[i]/1000.
bw=a[1]00/100.sw=a[i]0/10. gw=a[i].ab=10*gw sw. cd=10*gw
bw.if(isprime(ab)amp.isprime(cd)amp.ab>=10amp.cd>=10) b[cnt
]=a[i].}or(i=0.ifor(j=i 1.jif(b[i]} void readDat(){int i .FILE *fp .fp =



fopen("in.dat", "r") .for(i=0. i fclose(fp) .} void main(){int |
readDat() .js\val() .printf("LJ O O O O O =%d\n", cnt) .for(i=0.
printf("\n") .writeDat() .} writeDat(){FILE *fp .inti .fp =
fopen("out.dat", "w") .fprintf(fp, "%d\n", cnt) .for(i=0. i fclose(fp)
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